Home Learning 
Maths 
Year 1
Today we are going to be learning how to represent numbers up to 50.
Please watch the video below. 
https://vimeo.com/500468562
1. Complete the part whole model for each picture
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2. Draw a picture to represent each part-whole model.
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Challenge
These part-whole models and pictures representing them are incomplete. Can you fill the missing pieces?
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Year 2:
Today we are going to be learning how to divide by 2. 
Please watch this video and complete the activities: https://vimeo.com/498260506

Activity:
1. 
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2.   Please complete the number sentences:
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[image: ]3. Remember: There are 2 ways that you can do this.
















Challenges: There are 2 challenge questions. 
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[image: ][image: ]c)Ron has shared some grapes equally between two friends.
Each friend receives fewer than 50 grapes.
Complete the sentences to describe the number of grapes Ron started with.
He must have started with…
He could have started with…
He can’t have started with…
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Divide by 2

e Complete the number sentences for each array.

a)
x2=8
0 Complete the sentences. o0
a) ﬁ a : : 8:2=
There are 12 cherries. b)
x2=16
There are groups. o000000®
ooooooo 6eo
There are cherries in each group.

12+2= 2 x =12

e There are 14 socks.

RN FURL ST A W

There are muffins in each group. a) How many pairs of socks does
he have?

There are 10 muffins.

Amir puts them in pairs.

There are groups.

b) Complete the number sentence.

10+2= x 2 =10
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o Use the number lines to complete the division \‘) e
sentences.
a) 12+2= u

-

01 2 3 4 5 6 7 8 9 10 1 12

If I know my
2 times-table, I can use this
to help me divide by 2

Do you agree with Dora?

Talk about it with a partner.

b) 20 + 2 =

I

o Complete the divisions.

012345678 91011121314151617181920
a) 6+2= e) +2=5
Is there another way to work this out? @
b) 10+ 2= f) +2=6
o Alex has 22 pencils. Q) 14:+2= 9) +2=9
She puts them into pots.
Each pot has 2 pencils. d)0s:2= h) 22=11
How many pots does Alex need?

22 2=

Alex needs pots.





image11.png




image12.png




image1.png




image2.png




image3.png




image4.png




